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There are multiple versions of this exam. You will be given a scantron to fill out. It is important that you:
e Fill out this scantron accurately and completely using a #2 pencil
e In “Special Codes” put your exam version number in column “A”

During the exam it is expected that you will always keep your answers for the exam covered. A failure to
cover your answers may be grounds for an academic misconduct violation.

During the exam it is expected that you will always keeps your eyes solely on your own exam. Violation
of this expectation may be grounds for academic misconduct violation.

This exam is 15 pages long!

Binary Choice Questions (20 points)

Multiple Choice Questions (60 points)

§ham’2u(mc(10 points)

Problem Two (10 points)

TOTAL out of 100 points




L. Binary Choice Questions (10 questions with each question worth 2 points)

éaMé 1. Suppose you are provided the following information about the production costs for a good:
HIGHT
T Average total cost: ATC =20q + 10 + (2000/q) (
Marginal cost based on this average total cost information: MC = 40q + 10

where q is the number of units of the good. You are also told that this market can be
characterized as a natural monopoly over the relevant region of production. Given this
information and holding everything else constant, which of the following statements is true?

@) The maximum amount of good that will be demanded in this market is 10 units of the good.
b. This market experiences increasing returns to scale for quantities less than or equal to 100 60D
units. TRTS vatil MC=ATC = 4031—:0‘ 200+ JO + 2222, 2 = S
|

20g= 4 g / ; z /o
EALY 2. Consider the provision of a public good in a community. If some members of the community

decide to free ride on the provision of this good since the good is non-rival and non-excludable,
then:

a. the market will produce too much of the public good, but there will be no deadweight loss.
@ the market will produce too little of the public good and there will be a deadweight loss.

L'y warc
EAS r 3. If a market is characterized as having increasing returns to scale this tells you that: \;_"-/

: e {oarc | PRD
<@ The firm’s average total cost decreases as the firm’s level of output increases. - -
b. The firm’s average total cost increases as the firm’s level of output increases. /91@7: #s @7; @
Aty Ac Thal
ATcT

s ]
SITHER YW 4. When we compare health insurance coverage in the United States to the health insurance Conrinal

J(N6w coverage that is available in other high-income countries like Norway, Sweden, Germany we
TS0k find that:

fou

PON'T - a. The other high-income countries cover 99% to 100% of their population while the United
pop

¥ v'ﬁlﬁ) States has health insurance coverage for less than 60% of their population.

(,E‘t‘ru&e b. )JThe other high-income countries cover 99% to 100% of their population while the United

tates has health insurance coverage for approximately 90% of its population.

NoT RALD 5. Bus service for a large, densely populated city likely has increasing returns to scale due to:

a. the bus service having high variable costs of production.
@the bus service having high fixed costs of production. Loty 0f lh74l— tructece
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Eﬂrg\f 6. Consider the production of a good that generates positive social benefits. If the market does

not include these positive social benefits, the market will produce too:
msC

little of the good.

b. much of the good. ll\\ MSB
NMPB
gA{y_ 7. A Dutch-style auction starts: %Kr (fQ ““")’f&
Covered
N a. with low prices for the auctioned good and then as bidding occurs, the price for that good rises

CLASS until the highest bidder wins the good at that price.
(® with a high price for the auctioned good and when the price falls sufficiently to encourage one

bidder to bid, that bidder wins the good at that price.

OoveRed 8. According to the CIA World Factbook infant mortality in the United States is the highest
(N among developed countries.

CLASS

True
b. False

NoT taxp 9- Consider a city that has a metropolitan bus system. The marginal cost of an additional rider to
this system will be:

$O provided that the bus system is not operating with all buses at full capacity.
b. equal to the current bus fare in the city. L) Bus sevvite ¢ nolriva /

lovenezp  10. The administrative costs as a percentage of all health care spending in the United States is:

/N
AASS a. about the same as the administrative costs as a percentage of all health care spending in other

developed countries.
8% of all health care spending in the United States and 1% to 3% of all health care spending in

other developed countries.



I1. Multiple Choice Questions (15 questions with each question worth 4 points)

11. Consider the following graph which depicts the long run average cost curve (LRAC) for the
production of a good. Use this graph to answer this question and assume that all firms that
produce this good have the same long run average cost curve.

Price, P
' ) aits o cll (esch
TC V) 4 fpms Fmrﬁ«au# 50 v
Cunds) D 200185 )(4)=3C 500)
»ﬁmrwmu(z uph) 2 HIE 1%
30 ;‘f g ﬁ.m--l roduce a'f‘lm 6'6500 units
Fren TC 9) prodacctin? H15 000
20
10 LRAC
125 250 500 Quantity, Q

Given this information and holding everything else constant, how many of the following
statements is true?
e If 500 units are produced in this market, the lowest cost of producing this quantity can be
achieved by one firm producing all 500 units for a total cost of $5000. Tve
e If 500 units are produced in this market, the total cost of having five identical firms each
produce one fifth of this total quantity will be equal to no more than $15,000. FALSE
e If 500 units are produced in this market by two firms each producing 250 units of the
good, the total cost of production will be twice the total cost of having a single firm
produce all 500 units of the good.  2(250)(2) =(5&) (19) = lo,co0 TRVE
e Perfect competition teaches us that it is always cheaper for a market to be served by
multiple firms: in this market this is still true. FA4LSE

a, One statement is true. \) Mo mardcef iFes CALAfuwf mfh«
wo statements are true. f rovide s Tha W

c. Three statements are true.
d. Four statements are true,
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12. Consider a bus system for a large metropolitan city. Which of the following statements is

¢ HAUENS NG true?

MV%’@

The bus system will find that its average total cost of providing the service decreases as the
number of rides taken increases. | rus
b. The bus system will find that its total cost is constant for the entire system whether there is one
firm providing the service or four firms providing the service. F&[se
c. If the bus system prices each bus ticket so that the price is greater than the marginal cost of
providing the last ride, then the bus system will need a subsidy from the city in order to be able
to cover its operating costs. Fufsw<
d. If the price of a ride on the bus is equal to the average total cost of a ride, then the buses in this
community will be so full that some people will not be able to get on the bus. o] se

13. Medicare is funded by:

a. FICA taxes paid by employees and employers.

b. general tax revenues. .

¢. a small amount of payments made by states.
All of the above help to fund Medicare.

bgpMnW 14. Whena good ' is non-rejectable this means that:

NoT
HAG)

a. Everyone can consume the good without any one person’s consumption of the good .
diminishing the amount of the good available to someone else in the community. Falée ~Thésir nen-n\ved
Everyone has access to the same amount of the good no matter what their preferences for the
good.
c. Everyone is required to pay for the good since it is not possible to reject the good. Fals<
d. Anyone can enjoy the consumption of the good even if they have not paid for the good. f2/se - fis ¢
now -exledat] e

15. Consider a city with a metropolitan bus system. If this bus system provides the socially
optimal amount of bus rides then:

a. it is likely that the bus system will earn a positive economic profit. Falee: Wkl Y iteanllbave [T<0

@ it is likely that the bus system will charge very low fares to ride the bus and that the bus

system will need to be subsidized by the community. Trwe

c. the bus system will earn zero economic profit. False f c/j—/"(,;w T =0 = 1he Qlery s nel
d. no one in the city will drive cars. &l Qsoc QAP PAY



G,OVM 16. Medicare and Medicaid are two health care programs financed by the government. Medicare:

M“ rovides coverage to people aged 65 and older as well as some younger people with
disabilities and to people with end-stage renal disease.
b. provides coverage solely to people aged 65 and older.
c. provides coverage solely to people aged 65 and older and to people with end-stage renal
disease.
d. provides coverage to low income people.

Use the following information to answer the next two (2) questions.
Consider a market that can be described by the following information:

Marginal Social Benefit from consuming the good: MSB =250 — (1/2)Q
Marginal Private Cost of producing the good MPC =25 + (1/16)Q
Externality Cost of Producing the good = f,f-' 45, per unit of the good produced

éo mME 17. Given this information and holding everything else constant, the socially optimal amount of
wWokil the good is:

a. 80 units more than the market quantity where the market quantity is the amount that will be

roduced if the externality is not internalized.
( b/80 units less than the market quantity where the market quantity is the amount that will be

produced if the externality is not internalized.

c. 120 units more than the market quantity where the market quantity is the amount that will be

produced if the externality is not internalized.

d. 120 units less than the market quantity where the market quantity is the amount that will be

produced if the externality is not internalized.

NngA'D IF 18. If this externality is not internalized than the total surplus in this market can be written as:

YO“ TS 7 heymati J=
ipa. (1/2)(250 — 25)(400) + (45)(400) 'f na/ 7
V’mﬁ!gdrb (1/2)(250 — 25)(400) 4 L (262 - 28 ) (#00) - (45) ()
Con . (1/2)(250 — 70)(320) — 45(320)75? o
(1/2)(250-25)(400) — (45)(400) |\ o
(7. msB =MsC Fe o5 \ MPC=M S5 "
250- CL)@ 7@»@)@ 25 Ms 25t (#)Q =252- (3Q

' { 228
f?oh 1 Q"’ ’éO Quocapl a & 94_, 2241 ﬁ)
(90 = £ a4 (9::,,%—400

i,_% 69@ >4 Bmet
320 = Qogcott



50,44{5 19. Consider a market for health care services where there are non-poor consumers of the good
weejC 4 and poor consumers of the good. Assume there is a health care program implemented in this

S W market to provide health care services for free to the poor. The demand curves for these two
(el types of consumers are given below where Q is the quantity of health care services provided and
P is the price of these health care services. (To make the math simpler the problem uses a small
dollar amount for the price of these health care services.)

Demand for Health Care Services from Poor Consumers: P = 40 — (1/2)Q
Demand for Health Care Services from Non-poor Consumers: P =100 - Q

The supply curve for health care services is given by the following equation:
Supply of Health Care Services: P = (1/2)Q if@=60 = P= 30

Given this information and holding everything else constant, how many of the following
statements are true?

e The total equilibrium quantity in this health care services market is 120 units of health
care services. Tprug
e The non-poor will receive 20 units of health care services in this market. [alr: f‘\l—«,oal‘ WWunifr
e The poor will receive 80 units of health care services in this market. Trece
e The non-poor will demand fewer health care services in this market since the provision of
free health care services to the poor effectively increases the price of health care services
to the non-poor. 77w

a. One statement is true.

b. Two statements are true.
hree statements are true.

d. Four statements are true.
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Use the following information to answer the next two (2) questions.
You are provided the following information about a market where Q is the quantity of the good:

Marginal private cost of producing the good: MP & = 50 + 4Q
Marginal social benefit from consuming the good: MSB = 1000 - 6Q
Externality cost per unit of the good = $10 per unit

NoT 20. If the externality in this market is not internalized then the total surplus, TS, in this market is
HAZD equal to:

a. TS = (950)(95)

b. TS = (1/2)(950)(95)

c. TS = (950)(95) + (10)(95)
(DTS = (1/2)(950)(95)-=(10)(95)

Mol 21. In this market the deadweight loss due to the externality is equal to:
B a. $0
b. $950

- PS+CS

{/\//&‘y = TS

L (oo - ) (5¢) — 179

[

MSp ~MPC TS fant ot ,WMAJ;J) = L (gs)(55)~10(35)
lm’é@f SDHQ K secapt 2 MSC =mCA e
A Lot eQ =(97"
%= Qmid 08 = 946
@ =977

Dwy = £Cr)fs-1%) =4S



HA'(D 22. Susie and Joe are the only residents in a community. Susie and Joe are debating the
installation of streetlights in their community. They both know each other’s preferences for
streetlights and Susie knows that Joe values havimg marestredtifhils ficaSusiedoes . Both Joe and
Susie have linear demand curves for streetlights. The graph below depicts the marginal social
benefit of streetlights for these two individuals:

ms< 1,
Price per Streetlight (o ) 7/6|)

Cube

20

10 20  Quantity of Streetlights

Suppose you are also told that the marginal social cost of producing a streetlight is given by the
equation:

Ifla 210 DMSC= Y4+ 2Cw)
Marginal Social Cost of Streetlight: MSC = 4 + (5/2)Q MSC = ¢ 2h=2s

MS ( ok le 3 Topkqmest ol
Assume that neither of these individuals free ride. Given this information and holding everything® Msg3
else constant, then:

e socially optimal amount of the good is 4 units'gnd Joe will pay $8 per streetlight. v
b. the socially optimal amount of the good is 2 units‘and Susie will pay $6 per streetlight.
c. the socially optimal amount of the good is 4 unit “and Joe will pay $14 per streetlight.x
d. the socially optimal amount of the good is 2 units and the price per streetlight will be $14.

%+ﬁ(;§5tssz i Q=T Toe poy
- 20— %O P=to- 29 . f¢/chectip
g = 1t po - 400 = AFIRAN
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éO\/WKD 23. How many of the following statements about Medicaid are true?
é&,« Medicaid provides health insurance and health care for 1 out of 5 Americans. True

is the United States public health insurance program for people with low income. T /-t

e Medicaid is a federal-state partnership program where the federal government provides a
financial match of at least 50% of the cost of the medical care provided by Medicaid to
each state. TVua

e Medicaid provides health insurance to 76% of the nation’s poor children and 48% of
children with special needs. Tras

a. One statement is true.

b. Two statements are true.
Three statements are true.
Four statements are true.

“DEF)MTJNA L-24. If everyone free rides with regard to the provision of a public good, then:

a. the market supply curve for the public good will be further to the left than it would be if no
one was free riding. A
@Lhe market demand curve for the public good will not reflect the true marginal social benefit
rom the public good.
c. the market supply curve for the public good will not reflect the true marginal social cost of
providing the public good. X
d. the market will provide too much of the public good.X

10
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25. Consider a market for health care services where there are non-poor consumers of the good
and poor consumers of the good. Assume there is no program implemented to provide health
care services to the poor. The demand curves for these two types of consumers are given below
where Q is the quantity of health care services provided and P is the price of these health care
services. (To make the math simpler the problem uses a small dollar amount for the price of
these health care services.)

Demand for Health Care Services from Poor Consumers: P = 50 — (1/2)Q
Demand for Health Care Services from Non-poor Consumers: P = 100 — Q

The supply curve for health care services is given by the following equation:
[ = = 225 Dast lnnen
Supply of Health Care Services: P = (1/2)Q I]C @ 58 = f 3 + 4 Dmkf

Given this information and holding everything else constant, the quantity of health care services
that poor people will receive in this market will be:

a. Greater than the quantity of health care services received by non-poor people. fatee 20 <60
b, Equal to 20 units of health care. Tvice

¢. Will be one third fewer units of health care services than the amount of health care services
received by the non-poor. > plets 40 unifs = False =Dp i a-d' 29 v
d. Equal to the quantity of health care services received by non-poor people. fa{Se
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Extra Worksheet: Do NOT Remove from Exam!

EXAM CONTINUES!

12



III. Problems and Short Responses (two questions worth 10 points each)

1. This is a short answer question. Your answers should be written in standard English with
punctuation, capitalization, and the use of complete sentences. Before you write, take a moment
to compose your answer.

a. (4 points) There are three properties associated with a public good. What are the two of these
three properties of a public good? In your answer explain what each of these properties mean.
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b. (6 points) It is difficult to get public goods to be provided by the market. Why is it that the
market fails to provide the optimal amount of the public good? In your answer identify the
sources of the market failure and why this market failure occurs.

?W‘Ff A ,magqf/mvw&a( a7 Ve fﬁ"’)’% @M

AAldasne ;

) e dan s i ks e 5 e ey

o cannerythe R Buymten. Worferd e 5

oy nireead TPaee u.émk/wc(f%/m_,
aémMc}(jmm

13



2. Consider the market for streetlights in Elm Lawn. Elm Lawn has three citizens: Peter, Paul
and Mary. All three citizens view streetlights as a public good. All three citizens are willing to
reveal their preferences and they all three agree that they will not free ride on the provision of
streetlights in their community. You are provided the following information where P is the price
per streetlight and Q is the quantity of streetlights:

Peter’s Demand for the Public Good: Q =10 —-P

Paul’s Demand for the Public Good: Q =20 — 4P

Mary’s Demand for the Public Good: Q =16 — 2P

Marginal Social Cost of Providing a Streetlight: MSC = (9/8)Q

a. (6 points) In the space below draw a graph of the marginal social benefit (MSB) curve and the
marginal social cost curve (MSC) for streetlights in Elm Lawn. Provide the numeric values for
the y-intercepts and x-intercepts of these two curves. In addition, provide the coordinates for all
“Kkink points” that you find in your graph. Also, provide the values for the equilibrium price per
streetlight and equilibrium quantity of streetlights in this market. Make sure your graph also has
a label for the x-axis and a label for the y-axis.
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b. (3 points) Given the above information and holding everything else constant, how much will
Peter contribute per streetlight? How much will Paul contribute per streetlight? How much will
Mary contribute per streetlight? Show how you found your answers.

Peter will contribute 'é 2 per streetlight.
Paul will contribute #3 per streetlight.

Mary will contribute 7 per streetlight.

P,d&,‘- lf&;‘é’i? f=10-Q =2 FP=)o-8&= %2

kv (£ §= 8 P25- 34> /=57 5(5)= 43
Py’ 1f §= €= P=g-4@>p 7-5(8)=%Y

c. (1 point) Suppose the MSC curve changes to MSC = 2.50. Holding everything else constant,
who will free ride on this public good with this change in the MSC curve? Explain your answer.

FMEC= 2.8 = Pl anll feenize = faud v
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